Please typeset the solution with appropriate math symbol editor.  Please, no stuff like “<=”

 Please show how you arrive at the answer.

Use words in your solution process.  

If you use a computer, please include the details of that work as well.
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Lead-Free Environment  Suppose that the initially lead-free subject in Example 6.1.1 [i.e.,
x1(0) = x2(0) = x3(0) = 0] is exposed to lead for 400 days, and then removed to a lead-free
environment (Figure 6.1.5). Use a computer to estimate how long it takes the amount x3 of
lead in the bones to decline to 50% of x3(400); repeat for 25% and 10%.




